








In a Certain code CHOCOLATE is written as OHCLOCETA ,than 
find the code for DIRECTION ?
एक निनितकोड में CHOCOLATE काकोड OHCLOCETA निखा
गया है तो DIRECTION काकोडक्या होगा ?

(1) RIDTCENOI 
(2) IRDCTEONI 
(3) NOITCERID
(4) DRIETCINO



Find the missing ONE (?)

(11 , 57 , 8 )

(A) 15 , 81 , 12

(B) 12 , 64 , 10

(C) 15 , 38 , 13

(D) 18 , 89 , 15



Find the missing ONE (?)

24 : 25 :: 18 : ?

(A) 1

(B) 9

(C) 16

(D) 25



Find the missing ONE (?)

365 : 09 :: 623 : ?

(A) 63

(B) 54

(C) 23

(D) 36



Find the missing ONE (?)

5227 : 258 :: 4322 : ?

(A) 125

(B) 124

(C) 528

(D) 126



Find the missing ONE (?)

6 : 21 :: 3 : ?

(A) 21

(B) 31

(C) 61

(D) 41



Find the missing ONE (?)

392 : 28 :: 722 : ?

(A) 19 

(B) 28

(C) 38

(D) 48



Find the option which should replace (?)

6 * 7 * 5 = 756

9 * 4 * 2 = 429

8 * 9 * 3 = ?

(A) 839

(B) 389

(C) 216
(D) 938



Find the option which should replace (?)
9 * 3 + 8 = 24

10 * 2 + 7 = 35

80 * 4 + 3 = 6

12 * 4 + 3 = ?

(A) 7

(B) 9

(C) 12
(D) 16



Find the missing ONE (?)

? : 66 :: 29 : 65 

(A) 49

(B) 91

(C) 84

(D) 81



Find the missing ONE (?)

17 : 60 :: 20 : ?

(A) 57

(B) 69

(C) 81

(D) 93



Find the missing ONE (?)

14 : 193 :: 12 : ?

(A) 225

(B) 140

(C) 143

(D) 144



Find the missing ONE (?)

176 : 19463 :: 549 : ?

(A) 3546

(B) 4571

(C) 526194

(D) 251649



Find the missing ONE (?)

324 : 342 :: 196 : ?

(A) 218

(B) 222

(C) 210

(D) 221



Find the option which should replace (?)
89 + 3 = 50

58 + 4 = 51 

56 + 5 = 54

54 + 6 = ?

(A) 53

(B) 54

(C) 46
(D) 49



Find the option which should replace (?)

95 : 105 :: 89 : ?

(A) 109

(B) 809

(C) 111

(D) 98


